Address

54 KEW DRIVE

Postcode

467976

Was driver an employee of the Insured's Company

If No, Relationship of the Driver with the Insured

OWNER

Vehicle Registration Number of Driver's Own Vehicle

Insurance Company of Driver's Own Vehicle

General Information of the Accident

Type Of Accident

COLLISION - CHANGE/CROSS LANE

Weather Conditions

RAINING

Road Surface

WET

Other Information

Was any foreign vehicle involved in this accident?

Foreign Vehicle Registration Number

YES

JMY7253 (PRIVATE CAR)

Number of vehicles (including own vehicle) involved in the accident

3

Was any body injured in the Accident?

NO

Was any injured conveyed to hospital by

ambulance?

YES

Was any other material or property damaged? I have been approached by unknown person(s)

NO

soliciting/offering accident claims assistance.

1

Number of Passengers (including Driver)

Details of Police Action

YES

Was the accident reported to the police? If Yes, Please state which Police Station

POLICE STATION NAME [OTHER]

TRAFIK KULAIJAYA

Was notice of intended Prosecution given?

If Yes, against whom?

Circumstances of Accident

PLEASE REFER TO ATTACHED STATEMENT.

Attachment(s)

Are accident photos available for attachment?

YES.

Was there any video captured by Car Camera?

NO

Was there any audio recorded?

NO

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number

UNKNOWN

Vehicle Make/Model/Colour

Detalls Of Properties

Vehicle Category

PRIVATE CAR

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

Page 2 of 30

DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number

JMY7253

Vehicle Make/Model/Colour

Details Of Properties

Vehicle Category

PRIVATE CAR

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

Page 3 of 30

SKETCH PLAN

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material
 facts may allow insurance companies to repudiate policy liability.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance
 Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by
 interested parties.
- By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s)
 - processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
 - (II) investigating the accident and/or my claims;
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.(collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- (d) my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
 - (I) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or
 - (ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature Date & Time:

Driver's Signature

(If driver is not the policyholder)

Date & Time:

Reporting Centre Personnel's Signature

Name:

NRIC/FIN No .:

STARMC SkytchPlanForm of

SKETCH PLAN A = 2KE 418 Unknows IMY 7253 DESCRIBE CIRCUMSTANCES OF THE ACCIDENT Please Refer Statement DECLARATION I/We declare the foragoing particulars are true in every respect. Pollcyholder's Signature Driver's Signature Reporting Centre Personnel's Signature Date & Time. (If driver is not the policyholder) Name:

Date & Time:

STARME Sketchefonkoon, VO

NRIC/FIN No .:

I WAS TRAVELLING ALONG MELAKA TOWARDS SINGAPORE AT THE HIGHWAY, I WAS ON THE SECOND LANE FROM THE LEFT, WHEN SUDDENLY VEH B FROM THE EXTREME LEFT LANE CUT INTO MY LANE AND HIT ONTO MY VEH LEFT FRONT PORTION, MY VEH LOST CONTROL SPIN TO THE RIGHT SIDE AND HIT ONTO THE ROAD BARRIER, THEN COME TO A STOP FACING AGAINST THE TRAFFIC, AFTER THE IMPACT MY VEH CANNOT BE DRIVEN AND I ALIGHTED FROM MY VEH, STAND ON THE ROAD SIDE MAKE MY CALL. AFTER 15 MIN LATER, ANOTHER VEH C (BEARING NO JMY7253) COME FROM THE FIRST LANE AND HIT ONTO MY VEH FRONT PORTION.



POLIS DIRAJA MALAYSIA REPOT POLIS

Balai

: TRAFIK KULAIJAYA

Pegawai Penylasat : R123905

Daerah

: KULAIJAYA

Kontinien No Repot

: JOHOR

: TRAFIK KULAIJAYA/001564/19

Tarikh

: 18/02/2019

Waktu

: 0739 AM Bahasa Diterima : B. Malaysia

Butir-butir Penerima Repot

Nama: MOHD ALIEF BIN SAMAT

Butir-butir Jurubahasa (Jika Ada)

Nama: --

No Paspot: ---

Alamat: -

No Personel: R193588

Pangkat: KONST/P

No K/P (Baru): ---

Bahasa Asal: -

No Polis/Tentera: ---

Butir-butir Pengadu Nama: FU CHEN LOK

No K/P (Baru) : ---

No Sijil Beranak : ---

No Polis/Tentera : -

No Paspot: E6107493E

Jantina : Lelaki

Tarikh Lahir: 18/03/1987

Umur: 31 tahun 11 bulan

Keturunan : Cina

Pekerjaan ; SWASTA

Warganegara: Singapore

Alamat Tempat Tinggal: 54-KEW DRIVE, SINGAPORE, 467976"

Alamat Ibu/Bapa : ---Alamat Pejabat : ---

No Tel (Rumah): ---

No Tel (Pejabat) : --

No Tel (HP): 6598230937

Pengadu Menyatakan:-

PADA 18/02/2019 JAM LEBIH KURANG 0450HRS SAYA MEMANDU BERSEORANGAN M/KAR NO. SKE418Y JENIS NISSAN DARI MELAKA HENDAK KE SINGAPURA. PADA KETIKA ITU, SEMASA BERADA DI LORONG KIRI KM 19.7 LEBUHRAYA UTARA-SELATAN(S) DALAM KEADAAN HUJAN LEBAT TIBA-TIBA M/KAR SAYA HILANG KAWALAN DISEBABKAN JALAN LICIN MENYEBABKAN M/KAR SAYA HILANG KAWALAN LALU TERLANGGAR BESI PEMBAHAGI KANAN JALAN DAN BERPUSING. PADA MASA YANG SAMA DATANG SEBUAH M/KAR NO. JMY7253 JENIS P/SAGA DARI ARAH BELAKANG TELAH TERLANGGAR BAHAGIAN DEPAN KIRI M/KAR SAYA. SAYA TIDAK CEDERA. KEROSAKAN M/KAR SAYA BAHAGIAN DEPAN BUMPER, PANEL, CERMIN BESAR, BONET, TANGKI AIR/AIRCOND, MUDGUARD, TAYAR/ARM/RIM, SENSOR, CERMIN BESAR DAN LAIN-LAIN KEROSAKAN BELUM PASTI. SAYA BUAT LAPORAN UNTUK RUJUKAN PIHAK INSURAN DAN PIHAK YANG BERKENAAN. SEKIAN LAPORAN SAYA.

Tandatangan Pengadu:

Tandatangan Jurubahasa(Jika ada):

Tandatangan Penerima Repot:

ID Pencetak | Tarikh @ Masa Cetak

A7027669 | 18/02/2019 08:17:06 AM

SALINAN YANG DISAHKAN BENAR (HANYA UNTUK TUNTUZAN SIVIL)

KRSPTD IPD KULLI JOHOR

http://10.1.1.199/prs/eoffice/viewpol55realasp?type=printedsalinan&salinan=ya&jenissalina... 18-Feb-19



中国太平保险(新加坡)有限公司 CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

MX1/BE SN AND420A Cov. Type: C

CERTIFICATE OF INSURANCE

Motor Vehicles (Third-Party Risks and Compensation) Act (Chapter 189) Motor Vehicles (Third-Party Risks and Compensation) Rules, 1960 Road Transport Act, 1987 (Malaysia) Motor Vehicles (Third-Party Risks) Rules, 1959 (Malaysia)

CERTIFICATE No.

DMPCSN1817761800

Engine No : VR38006991A Chassis No: R35004855

Index Mark and Registration

Number of Vehicle

SKE418Y

2. Name of Policy Holder

FU CHEN LOK

3. Effective date of the Commencement of Insurance for the purposes of the Regulations, Ordinance or Enactment

6 JUNE 2018

Date of Expiry of Insurance

5 JUNE 2019

5. Persons or Classes of Persons entitled to drive *

AS PER NAMED DRIVER(S) STATED BELOW.

PROVIDED THAT THE PERSON DRIVING IS PERMITTED IN ACCORDANCE WITH THE LICENSING OR OTHER LAWS OR REGULATIONS TO DRIVE THE MOTOR VEHICLE OR HAS BEEN SO PERMITTED AND IS NOT DISQUALIFIED BY ORDER OF A COURT OF LAW OR BY REASON OF ANY ENACTMENT OR REGULATION IN THAT BEHALF FROM DRIVING THE MOTOR VEHICLE.

FU WAI KONG.

FU QTAN LI DRIVING ONLY

6. Limitations as to use: *

USE FOR SOCIAL, DOMESTIC AND PLEASURE PURPOSES AND FOR THE POLICYHOLDER'S BUSINESS. THE POLICY DOES NOT COVER USE FOR HIRE OR REWARD TUITION DRIVING TEST RACING PACE-MAKING, RELIABILITY TRIAL, SPEED-TESTING, THE CARRIAGE OF GOODS OTHER THAN SAMPLES IN CONNECTION WITH ANY TRADE OR BUSINESS

HIRE PURCHASE CO. : SWEE SENG CREDIT PTE LTD AS HP OWNER * Limitations rendered inoperative by Section 8 of the Motor Vehicles (Third-Party Risks and Compensation) Act (Chapter 189) and Section 95 of the Road Transport Act, 1987 (Malaysia), are not to be included under these headings.

I/We hereby Certify that the policy to which this Certificate relates is issued in accordance with the provisions of the Motor Vehicles (Third-Party Risks and Compensation) Act (Chapter 189) and Part IV of the

For CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

Authorised Officer

Authorised Signatory

3 Anson Road #16-00 Springleaf Tower Singapore 079909 Tel: 6389 6111 Fax: 6225 3592 Website: www.sg.cntalping.com

Countersigned By:

3 ,Anson Road #16-00 Springleaf Tower

Singapore 079909

NGEE SENG AUTO

REGISTRATION NO:

Estimate

Blk. 3022A, Ubi Road 1, #01-50, Singaj ALL TYPES OF MOTOR REPAIRS SERVICES, SPRA

x: 6743 9006

6,990-3 + 580.2 + 4.500 +

> 550 • + 390 • + 370 . +

20

360.5 + 2,650.5 +

..0..

424 + 5,971. +

> 662.6 + 709 +

5.980.8 + 1.680. +

7.901. + 1.800 +

8,350.

..0..

145,776.24 + 930 . +

8.350. 155.056.24

check

2.860. +

3,160.2 +

950.5 + 1,050 + 680.5 +

::00:

\$1 \$2

\$.

\$3, \$

\$1,0

\$4,5!

\$3,80

\$68

1,950 + 1,850 + 16.301.2

3.800. +

14.671.08

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

Qty	Description
	1 FRONT BUMPER 2
	1 FRONT BUMPER SPONGE (MISSING
	1 FRONT BUMPER SPOILER
	2 FRONT BUMPER SIDE LAMP RH/LH 2
	2 FRONT BUMPER SIDE RETAINER RH/LH
	2 FRONT BUMPER SIDE BRACKET RH/LH MASSIM
	1 FRONT BUMPER BEAM
	1 FRONT BUMPER REINFORCEMENT
	2 FRONT BUMPER REINFORCEMENT BRACKET MISSING
	2 FRONT FENDER RH/LH Dischol
	2 FRONT FENDER INNER SHIELD (FRONT) tom
	2 FRONT FENDER INNER SHIELD (REAR) tora
	1 FRONT SUPPORT PANEL 2020
	1 FRONT SUPPORT PANEL GARNISH J VISCOCO
	2 FRONT HEADLAMP RH/LH Smooth
	2 FRONT HEADLAMP BRACKET MSSM
	2 ROCKER PANEL GARNISH RH/LH O LH DISLL
	2 FRONT LOWER ARM
	2 FRONT KNUCKLE ARM Y LH PISCLE, RH?
	2 FRONT KNUCKLE ARM BEARING
	2 FRONT UPPER ARM
	1 FRONT CROSS MEMBER Bet
	1 FRONT STEERING RACK & PINION DASK
	2 FRONT DRIVSHAFT RH/LH LH DISTA
	1 FRONT STABILSER BAR LH
	2 FRONT STABILISER BAR LINK A BENT, RH?
	2 FRONT SHOCK ABSORBER LH BUT, RH ?
	1 FRONT OIL COOLEN DISCLA
	1 RADIATOR PISCE
	1 RADIATOR FAN Zoslad
	1 AIR CON FAN
	1 AIR CON CONDENSER Best
	1 FRONT CALIPER PR CLT
	1 FRONT OIL COOLEN BRACKET Best
	1 FRONT OIL COOLEN HOSE IN
	1 FRONT OIL COOLEN HOSE OUT ?
	1 FRONT ENGINE LOWER COVER REAR 7 Force
	1 FRONT ENGINE LOWER COVER FRONT

SUB TOTAL LESS 10% TOTAL (1)



REGISTRATION NO: 52791500M

Blk. 3022A, Ubi Road 1, #01-50, Singapore 408716. Tel: 6841 2276 Fax: 6743 9006 ALL TYPES OF MOTOR REPAIRS SERVICES, SPRAY PAINTING & INSURANCE CLAIMS.

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

3 ,Anson Road #16-00 Springleaf Tower

Singapore 079909

Estimate Repair Bill

:ES19001

Date

:21/02/2019

Ref No

:SKE 418 Y

Policy No.

:DMPCSN 1817761800

Page

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

Qty	Description		Unit Price	AMOUNT
	1 FRONT DOOR outed			\$6,990.30
	1 FRONT DOOR MOULDING KEEL			\$760.00 +.
	1 FRONT GRILLE Sorusted	2		\$882.00
	1 FRONT GRILLE CHROME Smoled			\$1,678.00
	1 FRONT GRILLE HOUSEING susted			\$932.00
	1 FRONT GRILLE LOGO WE			\$180.00
	1 FRONT BUMPER LOWER GRILLE PISCH			\$970.00
	1 FRONT BUMPER CLIPS (SET)			\$150.00
	1 FRONT FENDER INNER SHIELD (SET) AL			\$110.00
	1 FRONT BUMPER RUBBER MISSY			\$260.50
	2 FRONT FENDER LOGO (GTR) RH/LH ACC		\$280.00	\$560.00
	1 FRONT BUMPER LOWER LIP MUSSING			\$6,231.00
	1 FRONT BONNET Devted			\$5,600.00
	2 FRONT BONNET HINGE RH/LH 32+		\$655.00	\$1,310.00
	2 FRONT BONNET HINGE COVER RH/LH MISSING		\$260.30	\$520.60
	2 FRONT BONNET LOCK RH/LH		\$280.00	\$560.00
	1 FRONT BONNET INSULATION RH/LH we a			\$878.00 *
	1 FRONT DOOR LOCK HEA			\$760.60
	1 ROCKER PANEL Repus			\$1,950.40 X
	3 TOP UP BONNET SENSOR MISSING		\$586.00	\$1,758.00
	2 FRONT FENDER AIR DUCT PISCHED		\$398.80	\$797.60
	2 TURBO COOLER MUSSA		\$6,505.00	\$1,301.00
	1 FRONT WINDSCREEN Could			\$4,500.00
	2 FRONT CHASSIS Rey		\$5,985.00	\$11,970.00
	1 FRONT AIR CON PIPE (IN) Best			\$975.00
	1 FRONT AIR CON PIPE (OUT) But			\$860.00
	1 REAR BUMPER tora			\$6,990.00
	1 REAR BUMPER LOWER LIP (Page)			\$3,282.50
	4 SPORT RIM 3 pilar Cut		\$4,000.00	\$16,000.00 12000
	1 FRONT BUMPER LED LAMP (SET) MISSING			\$3,600.00
	1 REAR TAILLAMP Nem			\$2,480.50 +

SUB TOTAL
LESS 10%
TOTAL (2)



REGISTRATION NO: 52791500M

Blk. 3022A, Ubi Road 1, #01-50, Singapore 408716. Tel: 6841 2276 Fax: 6743 9006

ALL TYPES OF MOTOR REPAIRS SERVICES, SPRAY PAINTING & INSURANCE CLAIMS.

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

3 ,Anson Road #16-00

Springleaf Tower

Singapore 079909

Estimate Repair Bill

:ES19001

Date

:21/02/2019

Ref No

:SKE 418 Y

Policy No.

:DMPCSN/8/776/800

Page

:03

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

Qty	Description	Unit Price	AMOUNT
	SPECIAL NETT ITEM		
	2 FRONT / REAR NUMBER PLATE FOOT MUSS J	\$50.00	\$100.00 50
	4 TYRE Pieus	\$1.500.00	\$6,000.00 800
	2 FRONT / REAR WINDSCREEN SEALANT /SEAL	\$1,300.00	\$240:00 80
	TOTAL (3)	-	\$6,340.00
		=	7070.10.00
	LABOUR		
	TO TOWING		\$200.00 150
	TO REMOVE & REFIX FRONT WINDSCREEN		\$400.00 120
	TO REMOVE & REFIX FRONT DOOR COMPONENT		\$300.00 8 0
	TO REMOVE & REFIX RIM , TYRE & BALANCING		-\$350.00-150
	TO CONDUCT COMPUTERISED WHEEL ALIGNMENT		\$400:00 80
	TO CHECK & RECTIFT WIRING SYSTEM, RESET COMPUTER		\$800.00 300
	TO REMOVE & REFIX FRONT UNDERCARRIAGE		\$3,800.00 (20)
	TO CARRY OUT CHASSIS ALIGN! RH/LH		\$600.00-350
	TO RUST PROOF AFFECTED AREAS		\$300.00 120
	TO SETING AIR BAG SYSTEM		\$1,200.00+
	TO REMOVE DASHBOARD / AIR BAG		\$1,500.00 -
	TO REMOVE & REFIX ENGINE		\$2,500.00 1000
	TO PANEL BEATING		\$6,000.00 3000
	TO SPRAY PAINTING		\$4,000.00 1800
	LABOUR CHA	RGES _	\$22,350.00
	TOTAL SPARE PARTS & LABOUR CHARGES	-	\$218,527.72
	TOTAL STAIL FAITS & EABOON CHAIGES	=	3210,327.72
		F	dran Li
		1	le pulostina

the Repairer of the following:

- . To resurvey before/after spray painting
- . To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- . No illegal modification(s) is allowed.
- Supplementary item(s) must be resurveyed and is subject to final approval from insurance Company

Acknowledged by Repairer

Signature:

Date:

NS 01/03/19.

e Anthonied

Exons \$3000

Blk. 3022A, Ubi Road 1, #01-50, Singapore 408716. Tel: 6841 2276 Fax: 6743 9006 ALL TYPES OF MOTOR REPAIRS SERVICES, SPRAY PAINTING & INSURANCE CLAIMS.

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

3 ,Anson Road #16-00 Springleaf Tower Singapore 079909

Estimate Repair Bill

:ES19001

Date

:21/02/2019

Ref No

:SKE 418 Y

Policy No.

:DMPCSN 1817-761800

Page

:01

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

Qty	Description	Unit Price	AMOUNT
Q.,	1 FRONT BUMPER 2		\$6,990.30
	1 FRONT BUMPER SPONGE (MISSING		\$580.20
	1 FRONT BUMPER SPOILER		\$4,500.00
	2 FRONT BUMPER SIDE LAMP RH/LH 7	\$275.00	\$550.00
	2 FRONT BUMPER SIDE RETAINER RH/LH	\$195.00	\$390.00
	2 FRONT BUMPER SIDE BRACKET RH/LH	\$185.00	\$370.00
	1 FRONT BUMPER BEAM		\$360.50
	1 FRONT BUMPER REINFORCEMENT		\$2,650.50
	2 FRONT BUMPER REINFORCEMENT BRACKET MISSING	\$212.00	\$424.00
	2 FRONT FENDER RH/LH Posled	\$2,985.50	\$5,971.00
	2 FRONT FENDER INNER SHIELD (FRONT) tom	\$331.30	\$662.60
	2 FRONT FENDER INNER SHIELD (REAR)	\$354.50	\$709.00
			\$5,980.80
	1 FRONT SUPPORT PANEL GARNISH POSCILLA		\$1,680.00
		\$3,950.50	\$7,901.00
	2 1110111	\$165.00	\$330.00
	2 FRONT HEADLAMP BRACKET MISSING LH DISCLED	\$1,982.00	\$3,964.00 1582
	2 NOCKENTTHEE PARTY	\$2,860.00	\$5,720.00 2860
	2 FRONT KNUCKLE ARM 2 FRONT KNUCKLE ARM 2 FRONT KNUCKLE ARM 3 FRONT KNUCKLE ARM 4 FRONT KNUCKLE ARM 5 FRONT KNUCKLE ARM 6 FRONT KNUCKLE ARM 7 FRONT KNUCKLE ARM 7 FRONT KNUCKLE ARM 7 FRONT KNUCKLE ARM 7 FRONT KNUCKLE ARM	\$3,160.20	56-320.40 3160.7
	Z INOITI MITOCIAL	\$950.50	\$2,901.00 9 57
	Z PRONT KNOCKEE ARM BETTING	\$1,050.00	\$2,100.00 (057
	2 FRONT UPPER ARM	\$1,030.00	\$6,120.00
	1 FRONT CROSS MEMBER BUT		\$9,211.00
	I FRONT STEERING NACK & FINION	\$4,591.00	\$9,183.00-439
	2 FRONT DRIVSHAFT RICELL	\$4,331.00	\$2,510.50
	1 FRONT STABILSER BAR LH	CCOO FO	\$ 1,361.00 680 S
	2 FRONT STABILISER BAR LINK HA BELT, RIA	\$680.50	\$7 ,600.00 3801
	2 FRONT SHOCK ABSORBER LH But RIY	\$3,800.00	\$8,200.00
	1 FRONT OIL COOLEN DISCLE		
	1 RADIATOR PYSIE		\$3,480.00
	1 RADIATOR FAN POSLOC		\$1,160.00
	1 AIR CON FAN		\$1,238.00
	1 AIR CON CONDENSER Best		\$3,346.00
	1 FRONT CALIPER PROCE		\$4,120.00
	1 FRONT OIL COOLEN BRACKET Bent		\$678.00
	1 FRONT OIL COOLEN HOSE IN		\$1,950.00
	1 FRONT OIL COOLEN HOSE OUT BUT		\$1,850.00
	1 FRONT ENGINE LOWER COVER REAR } to ra		\$1,750.00
	1 FRONT ENGINE LOWER COVER FRONT		\$1,320.00
	SUB TOTAL		\$125,132.80
	· LESS 10%		\$12,513.28
	TOTAL (1)		\$112,619.52

NSAW

NGEE SENG AUTO WORKS 誼盛摩哆

REGISTRATION NO: 52791500M

Blk. 3022A, Ubi Road 1, #01-50, Singapore 408716. Tel: 6841 2276 Fax: 6743 9006 ALL TYPES OF MOTOR REPAIRS SERVICES, SPRAY PAINTING & INSURANCE CLAIMS.

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

3 ,Anson Road #16-00 Springleaf Tower Singapore 079909 Estimate Repair Bill

:ES19001

Date

:21/02/2019

Ref No

:SKE 418 Y

Policy No.

:DMPCSN 1817761800

Page

.02

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

Qty	Description	Unit Price	AMOUNT
	1 FRONT DOOR DELLES		\$6,990.30
	1 FRONT DOOR MOULDING Xeen		\$760.00 4.
	1 FRONT GRILLE Sanufed		\$882.00
	1 FRONT GRILLE CHROME Smolid		\$1,678.00
	1 FRONT GRILLE HOUSEING susted		\$932.00
	1 FRONT GRILLE LOGO MC		\$180.00
	1 FRONT BUMPER LOWER GRILLE PISCH		\$970.00
	1 FRONT BUMPER CLIPS (SET)		\$150.00
	1 FRONT FENDER INNER SHIELD (SET) AL		\$110.00
	1 FRONT BUMPER RUBBER M'SSW		\$260.50
	2 FRONT FENDER LOGO (GTR) RH/LH	\$280.00	\$560.00
	1 FRONT BUMPER LOWER LIP MUSSING		\$6,231.00
	1 FRONT BONNET Devted		\$5,600.00
	2 FRONT BONNET HINGE RH/LH 3et	\$655.00	\$1,310.00
	2 FRONT BONNET HINGE COVER RH/LH MISSING	\$260.30	\$520.60
	2 FRONT BONNET LOCK RH/LH	\$280.00	\$560.00
	1 FRONT BONNET INSULATION RH/LH AND M		\$878.00
	1 FRONT DOOR LOCK NEW		\$760.60 4
	1 ROCKER PANEL 2 En S		\$1,950.40 🔀
	3 TOP UP BONNET SENSOR MISSING	\$586.00	\$1,758.00
	2 FRONT FENDER AIR DUCT Probled	\$398.80	\$797.60
	2 TURBO COOLER MISSY	\$6,505.00	\$1,301.00
	1 FRONT WINDSCREEN Could		\$4,500.00
	2 FRONT CHASSIS Regis	\$5,985.00	\$11,970.00 *-
	1 FRONT AIR CON PIPE (IN) Best		\$975.00
	1 FRONT AIR CON PIPE (OUT) But		\$860.00
	1 REAR BUMPER tora		\$6,990.00
	1 REAR BUMPER LOWER LIP Per		\$3,282.50
	4 SPORTRIM 2 pilar Cit	\$4,000.00	\$15,000.00 1200
	1 FRONT BUMPER LED LAMP (SET) Missing	# (100 m 100	\$3,600.00 ~
	1 REAR TAILLAMP NE ~		\$2,480.50 +

145173.6

SUB TOTAL LESS 10% TOTAL (2) \$85,798.00 \$8,579.80 \$77,218.20

Blk. 3022A, Ubi Road 1, #01-50, Singapore 408716. Tel: 6841 2276 Fax: 6743 9006 ALL TYPES OF MOTOR REPAIRS SERVICES, SPRAY PAINTING & INSURANCE CLAIMS.

CHINA TAI PING INSURANCE (SINGAPORE) PTE LTD

3 ,Anson Road #16-00 Springleaf Tower Singapore 079909

Estimate Repair Bill

:ES19001

Date

:21/02/2019

Ref No

:SKE 418 Y

Policy No.

:DMPCSN/8/776/800

RE: VEHICLE NO. SKE 418 Y NISSAN GTR

Qty	Description	Unit Price	AMOUNT	
	SPECIAL NETT ITEM 2 FRONT / REAR NUMBER PLATE From Mos 4 TYRE Piles pun 2 FRONT / REAR WINDSCREEN SEALANT / SEAL A	\$50.00 \$1,500.00 \$120.00	\$1 00.00 \$00 \$6,000.00 800 \$240.00 80	930
		TOTAL (3)	\$6,340.00	
	LABOUR TO TOWING TO REMOVE & REFIX FRONT WINDSCREEN TO REMOVE & REFIX FRONT DOOR COMPONENT TO REMOVE & REFIX RIM, TYRE & BALANCING TO CONDUCT COMPUTERISED WHEEL ALIGNMEN TO CHECK & RECTIFT WIRING SYSTEM, RESET CO TO REMOVE & REFIX FRONT UNDERCARRIAGE TO CARRY OUT CHASSIS ALIGNI RH/LH TO RUST PROOF AFFECTED AREAS TO SETING AIR BAG SYSTEM TO REMOVE DASHBOARD / AIR BAG TO REMOVE & REFIX ENGINE TO PANEL BEATING TO SPRAY PAINTING	IT.	\$200.00 /50 \$400.00 (20 \$300.00 8 0 \$350.00 150 \$400.00 80 \$800.00 300 \$3,800.00 (20) \$600.00 350 \$1,200.00 4 \$1,500.00 4 \$1,500.00 4 \$2,500.00 1000 \$6,000.00 300 \$4,000.00 1800	
	TOTAL SPARE PARTS & LABOUR CHARGES	LABOUR CHARGES = = = = = = = = = = = = = = = = = = =	\$22,350.00 \$218,527.72 daa 6 S 01 03/19 28 Dy	
			~	